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-HERole S0 19,444
== 8,320 *400KW+5F *1 . 1 18,304
ANEZ 1093 *1,900kWh+53 1.1 1,140
-&AIRotE MY 10,196
IR 5,550 *68KW* 122 *1 . 1 4,982
AEZ 793 %5, 000KWh* 12+ 1.1 5,214
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2= 8,320 x300kW+53 +1 .1 17,847
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2= 5,550 +68KW* 123 %1 . 1 4,982
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ANEZ
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oteeBEZE MJIRs 108,625
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01 MHZHI 9,000 6,000 3,000
Oti=82d 2E=2 9,000,000& 9,000
401 AlEHIZ 201 867,000 272,000 595,000
AltI 555,000
-l 312,000
01 AlZH| 867,000 272,000 595,000
OBi+BIE Xt ®I|&H| HEE
22,000,000& 22,000
O +EHEY “2HIAIL(55) WAl
450,000,000 450,000
AlH] 315,000
Tl 135,000
OL=8od = HIAE WA
240,000,000 240,000
AltI 240,000
Otfi=82d =824 Soidtl
100,000,000 100,000
Otf=8od LA S
55,000,000 55,000
OHMEE Al 2t 830,257 761,772 68,485
CTV SEZMHEH =29 830,257 761,772 68,485
CCTV SEAMUH 28 710,257 761,772 ~51,515
101 @12A4H| 188,073 348,706 /160,633
04 JIZtN2 2N S+ 188,073 348,706 160,633
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2,000,000& 2,000
O8Il AEZE 47,5003 #2CH+ 123 1,140
OHtoled A BHAI(S/W) 14,019
“Win ABHE 435,000 3= 1,305
-Lin AHE 505,000& 20= 11,900
-PCE 37,0003 2= 814
02 S3=gHl 291,614 234,162 57,452
OCClV E32= 45,645
v &EJIe=s 7,500 #4480 2% 123 40,320
QIHY Sl R= 374,000 122 4,488
HH&ESIt2= 5203 x134= 122 837
OCCTV SEZHMAIAE SX2telt] 245,969
dHE SYA K22
17,000,000 8%+1. 1 1,49%6
LHE OV =2
1,037,897, 7803 +8%+*1. 1 91,336
gHE CCIV HE&Hl =&l
5,000,000 54 25,000
SEZMAIAE(HW) S22l
1,002,497 , 4603 #8%+*1. 1 88,220
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gHE CTV £X 120,000 120,000
401 A& HIX R0 120,000 120,000
01 AlZH| 120,000 120,000
oggs v 4 120,000,000 120,000
dYyIPH|(rESZ 152,397 113,916 38,481
=34 92,076 113,916 A21,840
Jl=3H] 92,076 113,916 A21,840
201 er23 | 24,306 24,306 0
01 At2teltl 24,306 24,306 0
ORNEg=+3HI 11,916,000& 11,916
OJlzge-4d S&tl 11,750,000& 11,750
OF=d 29 640,000 640
202 04| 60,480 82,320 A\21,840
01 =LHO LI 60,480 82,320 A21,840
OJl=g R0
280,0002 x36E +6E 60,480
203 AHR=H] 7,290 7,290
01 J|2=gg =AYl 2,700 2,700
OJ|a2=gg A 3,000,000 90k 2,700
M FAZHHIFII 4,590 4,590 0
ORMEZE =4 5,100,000 *90% 4,590
elgE3 60,321 0 60,321
elIg =3 60,321 0 60,321
101 @124H| 60,321 0 60,321
02 JIEtME = 60,321 0 60,321
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LIS HHXIE 653,494 618,099 35,395
MHel=s=2E 653,494 618,099 35,395
J1sdEs 653,494 618,099 35,395
0 JI=sdEs 653,494 618,099 35,3%
OJlsdE=s 653,494,000 653,494




